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HE|Z 2 (Market Multiple) 2t
o P/E (PER) H|=

1

o EV/EBITDA

o P/B (PBR) H|=

o P/S (PSR) H|=



1. Market Multiple

o H|T CHAF MX A| =O| A}S}

e €

H}
O

» Geography (2 X[H0| &3f A=71?)

 Size/Financials (H|=&t 22| A}



2. 12[0|X2] LhXh7tx| &4
oV =EPSx(85+29) x4.4/Y
e V: 7|®8| L{XHZ}X(Intrinsic Value)
« EPS: F&+0|2(Earnirigs Per Share) TTM 7|&
+ g: &= 7-1027H Ol &El= A8 EPS 8=

e Y: ®Xl7|E AAA SE SlANS =&

https://stablebread.com/how-to-calculate-the-intrinsic-value-of-a-company-like-benjamin-graham/


https://stablebread.com/how-to-calculate-the-intrinsic-value-of-a-company-like-benjamin-graham/

2. 12|0|H 2| LHXW7[x| S A
V=EPSx(85+2g)x4.4/Y o0 “85” (WZFH2l 7|2 PER)



2. 12]|0[x2] LhX{7tX] S4

0 “2” (EBO| Ch3t 715X

e 7|82 8€=0]1% 572
[, 5 SPER7I 28I &72|0|



2. 12]|0[x2] LhX{7tX] S4

o “4.4” (AAA 2|Axl =2 =0]| CH

AL A
ol_l' ) i 5

AVAVANS

)'— 19624 ZOLﬂ ':.'_f7\
& 2fA



18|01 B2| LHXRZFX| S4;

oV=EPSx(7.0+q)x4.4/Y

ARY 4018

g|o|ed’s | SICHA|E
At x7
I P/ ratio 8.5 7.0
MAE
iy ’ 1.0
HA AAA S
. 4 4.4




2. 12]|0[x2] LhX{7tX] S4

o Of= LHRH7IX| 25}7| o OE2|V ? $94.31 (6/7 7|&)
o V=EPSx(7.0+9g)x44/Y o Margin of Safety 30% X A| ?
$66.01

o EPS: $6.43 (+t= LfO[thA 7fir)
o g:10.5 (OF= Analysis) &
o Y ? (Fred, RLC|A, 20) 5.25

https://fred.stlouisfed.org/series/AAA https://finance.yahoo.com/quote/NVDA/

https://docs.google.com/spreadsheets/d/1AIWOFCPNEIij233YAT6sY1XCbhjH7M6_97YIQI-bzAo0/edit#gid=0


https://docs.google.com/spreadsheets/d/1AiWOFCPNEij233YAT6sY1XCbhjH7M6_97YlQI-bzAo0/edit#gid=0
https://finance.yahoo.com/quote/NVDA/
https://fred.stlouisfed.org/series/AAA

2. 12]|0[x2] LhX{7tX] S4

o OO|ABRAZE LYXH7}X| 225}7 o |F “SHRFIP < “LHRHZFX] X (1-

Margin of Safety)”, BUY, SELL.
o V=EPSXx(7.0+g)x4.4/Y

O U0| A= EQ]V:
o EPS: (= LfO|LhA) 2 ‘

o Margin of Safety & A| :

o P/E no growth : 7.0

© g. (OFF Analysis) 0 s 1 A B i i

O Y ! (10ExH = E)




o 7|CH £US
—I——|IE
s (Expected rate

- X:L
2 191, 151 191 : C
= 9%

N =
2 194, 1135 1245008

2l : 5%

o X:L O L= O
‘I:I1—|-I,1|jI:|\2 -I
ﬁ

:100%

sto| HIE (D
S o (Discounted Cash
sh Flow)
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SO| HIEA
= L. O B

(Discounted Cash Flow)

o DCF 2ZE= 7|® 7X| lop= &



Discounted Cash Flow)

X (1+0.1)A2 +UE







54 0|= 7Ix| #1oh= 271K| &8

r=8%,9=3% 1 2 3 4 5 5190|=
IZSE 20 20 20 30 30 618
1714l | 0.93 0.86 0.79 0.74 0.68 0.68
SAXNZtX] | 18.52 17.15 _*';;-8 22.05 20.42 420.6

O
e TV = “61 X} HSEZ2"/ (-g), r2 E2UE, g= MTE. (BHISYR &)

« “30X(1+3%)” / (8%-3%) = 30.9 / 0.05 = 618, 6182 HM7IX|= 420.6



54 0|= 7Ix| 15t= 271X &8

o Exit Multiple

e 5 O|=0| O 2 Z|AO[A| @l =T 718, lE THe| 7| K|S
Terminal Valuez =.

« EBITDA ZE|Z EO| AtE



stol vt (Discounted Cash Flow)

. $I3 52 (]2 0BT IR iS0| #X| %S

Lot L%

(
. r(BO18)TH gMEE)O WA 7| Tk HEITE Alg


https://docs.google.com/spreadsheets/d/1AiWOFCPNEij233YAT6sY1XCbhjH7M6_97YlQI-bzAo0/edit#gid=1379304898

4

HIH
o H

(Discounted Cash Flow)

d

o FCF

KI

- AE, AL

)
=)

, Hil's

|2

>
=

K
=T
I
3

G| 7tASALZ HY

O
A,

2

https://ilyo.co.kr/?ac=article_view&entry id=447927


https://ilyo.co.kr/?ac=article_view&entry_id=447927

gtol 2t (Discounted Cash Flow)

o FCFF (FCF to the Firm 22 Unlevered FCF)
o JO|: MHXI2p =0||A| Hh'E 7tS¢et oig

» 28 : DCF &€& 7|Y¥7IX| 871, 7|”¥7KK = X|Z27HX]| + =5




o« Fo|: A HSE= HIB5E




L= O

o
— -1

" WACC

FCFF 7|17 _
8 KAKRE = X7 | XH=2H| 2&E
(7I1¥do{sZ S E)|(Enterprise Value) P TR A rO._llxrrEH\g) ;

K7 |Xr=H|E

FCFE i /1] S (FFE0
(EFU0{FHZSE)| (Equity Value) QPTAUE)

S5 : LIEXI7L YaiFe AX B20jo|M B3H



EIOIXI2H|& (Cost of Debt) 7|4ttt

2 E010] EfQIAI=HIE ALt

(USD in millions)

Interest expense
Total debt

Effective interest rate

Cost of debt 1
(average effective interest rates)

https://docs.google.com/spreadsheets/d/1AIWOFCPNEIij233YAT6sY 1XCbhjH7M6_97YIQI-bzAo0/edit#9id=1098383615


https://docs.google.com/spreadsheets/d/1AiWOFCPNEij233YAT6sY1XCbhjH7M6_97YlQI-bzAo0/edit#gid=1098383615

X}7|X}2H| 2 (Cost of Equity) 7|

« CAPM (Capital Asset Pricing Mcdel) =

13%, HilEr 1.5 2,

10927| =xfi=2| 5%, S&P50S

. ko

5% + 1.5 (13% -5%) =17%



Cost of Capital 7{|AH &t

o
QIE
O

o WACC (Weighted Average Cost of Capital) =
e XI7|X2H| S} EIRIXIEH|E S 7I5H T 2= 1ot 4\
e SUB 2[Are| Xrih2 THE(E[QIATE) 49, X[ XI2 69, & 109

. BHEIHE O|XI5% (EIRIRHEE!R), SISEE QA (R|XHEH|R) 25%

+ SJB’s WACC = (4/10) X 5% + (6/10) X 25% = 2% + 15% = 17%



Cost of Capital 7{|At it

o WACC (Weighted Average Cost of Capital)

o A} Q5= A QFLAUFE 17%

 WACC =(4/10) X 5% + (5/10) X 25% = 2% + 15% = 17%
. SHHTHS(EIRIRLE) BIZ S01E 45 WACC 24, HSOHEA 24

e LIl = (AH71X12) HIS =0HE == WACC 371, MFE88 37t
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Cost of Capltal 2|4

e D I

1002t IRR: 10% 1107+

'\/

101.852r& WACC: 8%






Cost of Capital 7{|At it

« NPV : “Ol2fl 55252 ®M7tx| - =7|FXtg”

» NPV7} 2=

T

10082/ IRR:10% 11QT0H

s R

'\/

08.218H2 WACC: 12%



4. DDM &£ (Dividend Discount Model)

o O|eh B =2l @ M7IX| & A => X8| LXK 7IA]

o 7} = LJHE HiYZ / (KI=2H|E - HH%Hng.g) TP E PN

O
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4. DDM &£ (Dividend Discount Model)

501 O] Ak 259 O] Ak 1010 A 5L ~9LH
S&P 7|2l
S&P ZtA|IS Hi = Hi 7 <H 1| O HH =04 5| EH H =2 21
0 - S&P 500, AS 3092, Y7{2lEF 5EH0 =




4. DDM &£ (Dividend Discount Model)

o AEZ|0} IZ(MO) MAZFIt 6/2 7|F e ror CAPM =4.43% +
0.66" =9.81%
o P =D1/(r-q)
e g=227% {AMZALL, Dividend
o D1:%4.08 = 1.02+1.02+1.02+1.02 Per Share Growth FY1 - FY3
(CAGR))

or: CAPM = 2|+ Z+HIE} X
¢ P=D1/(r-qg)=4.08/
(9.81%-2.27%) = $53.59

. = A|Z7|CH
$OIE - BOIH $E = S&PX|S o 6/2 HIFTIH= $46.25 :
4012 - 10 $2UE =
12.58%-4.43% = ”

https://seekingalpha.com/symbol/MO/dividends/history

https://docs.google.com/spreadsheets/d/1 AIWOFCPNEIij233YAT6sY1XCbhjH7/M6_97YIQI-bzAo0/edit#gid=1503079997


https://docs.google.com/spreadsheets/d/1AiWOFCPNEij233YAT6sY1XCbhjH7M6_97YlQI-bzAo0/edit#gid=1503079997
https://seekingalpha.com/symbol/MO/dividends/history

T 7} CHAH sasE stolg
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X

=

e https://www.issuenbiz.com/news/articleView.html?idxno=10399

» https:.//scienceon.kisti.re.kr/srch/selectPORSrchArticle.do?
cn=DIKO0015069240

e https:.//www.investopedia.comy/articles/finacial-theory/11/valuing-startup-
ventures.asp

e https://www.investopedia.com/terms/t/terminalvalue.asp

o LIEXPI ZeiFe 28 BR0[0]1E HIS, U= X, QEIRE SEA]


https://www.issuenbiz.com/news/articleView.html?idxno=10399
https://scienceon.kisti.re.kr/srch/selectPORSrchArticle.do?cn=DIKO0015069240
https://scienceon.kisti.re.kr/srch/selectPORSrchArticle.do?cn=DIKO0015069240
https://www.investopedia.com/articles/financial-theory/11/valuing-startup-ventures.asp
https://www.investopedia.com/articles/financial-theory/11/valuing-startup-ventures.asp
https://www.investopedia.com/terms/t/terminalvalue.asp

